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In week 3 ,

we defined

+, - ,
X

on In = the set of equir
classes [a]n

witit I on 21
mod n

We say that
-

an element [a] in En



has a multiplicative invelse

iS 5 b sit. TaTTb] = [1]

ab mod n Tabl
E #
[a] = [b] ab = 1 mid 1

.

RK The multiplication inverse
of [a]

,
if exists

,

is unique .



suppose We

have
[b] in In

[c]

satisfying [a][b] = [11

[a][c] = [ 1].

A [b] = [c]

Firstly, observe that

[a][c = T1)
"[ac] =< d = Gl mod 13



















Example n= 6
- Both T2Ts

.
1376 do Not

have multiplicatio inverses.

[23137 = [2 .3]
,
= 56]=

Tols
typed-up -

#If See Lecture notes

in Week 2 tab.

Given 1171
,
how many

elements in In have multiplicative











What is multip inverse

useful for ?

Example Solve
-

MX = 1 mod 11
.

in X +1 .

< [M7
,

5)
,

= [ 1]
,

What is [x] , ??














